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Rabi Yehudo says, her time is sufficient - INYW 79T MR 7770 929

Overview

The ®Xn>"72 teaches that if a N7 saw 771 07 on the day she was 7°an1 she is Xnv from
the time she sees the 07, according to 777 7. However, *01 ' maintains that she is
Xnv from a ny> nyn previously.?
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>'"w1 explained, since there cannot be the rule of being Xnv from the previous ny»

nyY, therefore the 3327 did also not enact the rule of 77°ps® 17°P5%, but rather 7
nnvw, she is XY from now when she sees the o7 —

Mmoo responds to an apparent difficulty:
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And 2 '3, when he argues with 7717 "7, and maintains that she is 7x»u» from a

nyb n» retroactively, he does not mean an actual ¥'"5w» -
$9MIYN ANNVN NYD NYN NN 91D NIN

Rather, *07 '1 mean to say we give her the rule of '">¥2%, so she is 77anw2 IRV,
the earliest possible time (like a ¥"9¥n - the earliest possible time).

Summary
777 "1 maintains that since there cannot be ¥"%vn Xnv, there is no 77°po% 17°PoN,

while "07° ' maintains we are X»v» her from the earliest possible time — 777 nwn.

Thinking it over
Presumably, according to 01 ', she certainly checked herself before her 7%°2v, so
why did not *01° "1 just rule 77°pd? 77°Pon why mention ¥"7¥n at all?!

! This is the meaning of Anyw 7°7; it is sufficient that she is Xov from the 7vw that she sees the o7.

2 Seemingly this means if, for instance, she was 7°°an1 on Monday at 12 noon and saw a7 at 4 pm she is &b from 4
pm Sunday (while she was still a 7"13). This will be clarified shortly

3 7 n"72. The rule by a Jewish woman is that when she sees 07 she is [13277%] ¥1912% Xnv for (at most) a twenty-four-
hour period (n¥> nyn). However, if she checked herself within this ny% ny» and found that she was ‘clean’, she is 70
up to the last time she checked (77°p2% A71°pPoN).

4 Twenty-four hours ago, she was a 73 and had no @°1°7 of "7 ARPW at all. She was just 9301 today.

5 This would be when she came up from the mpn. The first time when she could be xnv.

6 It cannot be that she is XnuA up to a ¥"2yn previously since she was just 17nn today and a ¥">vn ago she was still a
7, see footnote # 4.
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